
A.3 Table of Integrals

∫
udv = uv −

∫
vdu

∫
cosxdx = − sinx

∫
sinxdx = cosx

∫
tanxdx = − ln |cosx|

∫
sin2 xdx =

1

2
x− 1

4
sin 2x

∫
cos2 xdx =

1

2
x+

1

4
sin 2x

∫
tan2 xdx = tanx− x

∫
sinn xdx = −sinn−1 x cosx

n
+
n− 1

n

∫
sinn−2 xdx

∫
cosn xdx =

cosn−1 x sinx

n
+
n− 1

n

∫
cosn−2 xdx

∫
sin ax sin bxdx = −sin(a+ b)x

2(a+ b)
+

sin(a− b)x
2(a− b) , a2 6= b2

∫
cos ax cos bxdx =

sin(a+ b)x

2(a+ b)
+

sin(a− b)x
2(a− b) , a2 6= b2

∫
sin ax cos bxdx = −cos(a+ b)x

2(a+ b)
− cos(a− b)x

2(a− b) , a2 6= b2

∫
sec2 xdx = tanx

∫
csc2 xdx = − cotx

∫
secx tanxdx = secx

∫
dx√
a2 − x2

= arcsin
x

a

∫
dx

x
√
x2 − a2

=
1

a
arccos

a

x∫
dx

a2 + x2
=

1

a
arctan

x

a
,

∫
dx

a2 − x2 =
1

2a
ln

∣∣∣∣
x+ a

x− a

∣∣∣∣ ,
∫

dx√
a2 + x2

= ln
∣∣∣x+

√
x2 + a2

∣∣∣
∫

sinhxdx = coshx

∫
coshxdx = sinhx

∫
eax sinnxdx =

eax(a sinnx− n cosnx)

a2 + n2

∫
eax cosnxdx =

eax(a cosnx+ n sinnx)

a2 + n2
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